Draughtsman B Mechanical



Surface area of cube is 600 m?, what is its volume?

a) 1000 m3
b) 500 m3
c) 600 m3
d) 1200 m3

1 &1 9 &1 G819 &A% d 600 m? §, Al SHBT I T 812

a) 1000 m3
b) 500 m3
¢) 600 m3
d) 1200 m3



Property of material by which it can be beaten or rolled into plate is

a) Ductility
b) Malleability
c) Tenacity

d) Toughness

AT BT 98 T[0T Foradh gRT 3 Wie | ieT a1 Id farar S 9l 5-
a) =T (Sfaeferdh

b) SETdaLdr (Afersiiferdh)

c) iter (TRY)

d) el (Ch4)



One degree = Radians.

a) m

b) n/180
c) n/360
d) n/90

T Ul = ST |
a) T

b) /180

c) w/360

d) /90




Development of a right circular cone is

a) A triangle
b) Two circle
c¢) Sector of a circle

d) Two triangle

U gl gTild U hl SIAUHC

a) T Ay

b) &I I

¢) Uh I Bl (AT TS
EARECALY!




Welding is type fastening

a) Temporary
b) Permanent
¢) Semi-Permanent

d) None of these

afeaT UHR HT S8 |
a) STl
b) Rt
¢) -t
d) FTH I P Tl




Which drawing instrument is used to draw circles and arcs?

a) Divider
b) Compass
c) French Curves

d) Set square

fopa S e BT IUGNT Heba SR SR 1 Tila b e feba
ST g 2

a) SidlgeY

b) SR

c) Thd Hog

d) T WA



[f the velocity of the body is doubled, its kinetic energy
a) Gets doubled
b) Becomes half
¢) Does not change

d) Becomes 4 times

gfe fie &1 a7 A1 81 9T, o IUP! fdd ol
a) QA 81 STt
b) el ¥g ST
¢) DTS uRad- Tef gnm
d) 4 7T 81 St



A beam with one end fixed and other end free 1s called

a) Simply supported beam
b) Cantilever beam
¢) Over hang beam

d) Continuous beam

T BR Y a3k g OR 9 ! 411 F1 Sgardi o
a) XA AT §1H
b) dcldldR dlH
¢) 3R g &H
d) Idd d1F




The length of a metal road 1s 100cm at 20°C and 104cm at 100°C.The
co efficient of linear thermal expansion of the material 1s

a) 0.00005/°C

b) 0.0005/°C

c) 0.005/°C

d) 0.0004/°C

TH YT IS DI daTs 20° T TR 100 I, 3R 100°H. TR 104 SH B
Il @1 ¥R Y faaR Turiep ghT-

a) 0.00005/°C

b) 0.0005/°C

c) 0.005/°C
d) 0.0004/°C



Open tolerance for a linear dimension of 100mm as per IS 2102
medium class is

a) +0.3 mm

b) £0.5 mm

¢) £0.2 mm

d) £0.8 mm

100 ot o YRAP A & T 1S: 2102 HEH IS SITAR 30
ek Bhm

a) £0.3 mm

b) £0.5 mm

¢) £0.2 mm

d) £0.8 mm



The centroid of an isosceles triangle with base “b” and altitude “h™ is

located at a distance of from the vertex

a) h/3
b) 2h/3
c) b/3
d) h/4

3TYR "b" 3R T8 "h" Tel U GHgaTg By &1 % 2 9
N RR/AR

a) h/3
b) 2h/3
c) b/3
d) h/4



Area of an equilateral triangle with side length 8 cm is

a) 16cm2

b) 32 V3 cm2
¢) 16 V3 cm2
d) 43 cm

8 .11 diaTs P Yol dTel YHaTg AYS HT &T%hd ghTl-
a) l6cm?2
b) 32 V3 cm?2
c) 16 V3 cm2
d) 43 cm



Max slant length of a square pyramid of base 4cm and height Scm 1s
a) V29
b) V33
c) V57
d) 25

HTYR 4cm WWSmemﬁmm
Tars..... gl



The cutting edge of a chisel should be

a) Hardened

b) Tempered
c) Hardened and Tempered
d) Case hardened

ferord (&) 1 BT Tal gl Afe-
a) POR
b) TS
¢) AR AR WS
d) FYgTSeA



The main purpose of boring operation is to

a) Drill a hole
b) Ream the drilled hole
c) Enlarge the existing hole

d) None of the above

ST TR &1 g81 322 &
a) WG Pl
by f$a frT T B¢ &I R\ H311
¢) TAHM VG DI TSI HRAT
d) STHE DI 6




If the dimension of the male part is larger than female part, the fit is

a) Transition fit

b) Interference fit

¢) Ringing fit

d) None of the above

gfe A UTe 1 1AW BIAd UIe 9 987 8, dI fthe B1T-



The included angle for the British standard whit worth thread is

a) 29°
b) 47.5°
c) 55°
d) 60°

fofewr 7 facad 4@ & e AiRa Hor e
a) 290
b) 47.5°
¢) 550
d) 60°



A basic shaft 1s one whose

a) Lower deviation is zero
b) Upper deviation is zero
¢) Lower and upper deviation is zero

d) None of the above

U ST e 379 4 U ©
2) Fae faae T g e
b) SUR fae LA
¢) Faar iR Sudt faae g 8
d) STH I PIS Tl



If a gear with 40 teeth has pitch circle diameter 280mm, the circular

pitch is

a) 22 mm
b) 11 mm
c) 44 mm
d) 33 mm

Hﬁ4oﬁaﬁﬁu?ﬁﬁaqamzsoﬁiﬂ%ﬁfwfﬁa
Sl

a) 22 mm
b) 11 mm
c) 44 mm
d) 33 mm



Total no of tolerance grades as per Indian Standard is

a) 8
b) 12
c) 16
d) I8

YRAT AFE & ATUR AR IS &I $d G &
a) 8
b) 12
¢) 16
d) 18



Due to the torque in a shaft, every cross section of it is subjected to

a) Tensile stress
b) Compressive stress
c) Shear stress

d) Bending stress

MG H Tlch & DRI, DT UAD HiY Yo fhdd 3 gidl 8
a) < TRd K
b) HIEIRT &Y
c) ﬁTW@:\‘?
d) dfSTXH



Following of which one is false?

a) Sin (30)=0.5
b) cos (60)=0.5
c¢) tan (45)=1.0
d) Sin (60)=0.5

fFafefad & oH-a17Ted &
a) Sin (30)=0.5
b) cos (60)=0.5
c) tan (45)=1.0
d) Sin (60)=0.5



When plan is shown above the elevation, the projection is called

a) First angle
b) Third angle
c) Isometric

d) Perspective

Sd W &Y Uferd¥[ 4 SWR feQmar Srar 8, dl ey Heardl gl
2) B WA (TSl D)
b) YUS WTeT (cfTERT <bTON)
) SHTEHHGP (T
d) Tufaed @Rue)



Maximum length of rod that can be placed in a room of size 10 X 10 X

10 feet 1s

a) 10+ 10 +10
b) V(10 + 10 +10)

c) (102+102+10?)
d) V(10 +10%+10%)

10 X 10 X 10 BIc THR (W) & HHR H TG ST b+ didl ol Dl

B dars Bl |
a) 10+ 10 +10
b) V(10 + 10 +10)
¢) (102 +10*+10?)
d) V(10 +10%+10?)




In AutoCAD software, the extension name for template and drawing

files are respectively

a) .dwg and .bmp
b) .bmp and .dwg
c) .dwr and .dwt

d) .dwt and .dwg

3ffcibs TiueddR H, TRaic 3R IR WISHl &I TgH T ™
m:_%’lﬁT% I

a) .dwg and .bmp

b) .bmp and .dwg

c) .dwr and .dwt
d) .dwt and .dwg



Unit of stress 1s

a) N/mm
b) N/mm’
¢) N-mm

d) N/mm?

Ufdad HIghls_ © |
a) N/mm
b) N/mm?
¢) N-mm
d) N/mm?’



In AutoCAD software, to reverse the UNDO command, the correct

command 18

a) REDO

b) REDRAW
c) Esc

d) U

Jiclbs TUcaiR T 3g HHIS P! Ulddd! B & [0 Tg! HHIS
_ ®I

2) 9§

b) &St

¢) IXp

d) g



Baseline dimensions are referenced from a common geometric feature

known as

a) Corner
b) Edge
¢) Datum

d) Point of reference

SIS 3MTATHI &l T YA SAIHY fA=vdr (W) 9 SefHd
fparsTarg St

a) BT

b) ThRT

C) scH

d) deH feig



Bearings are used for

a) Reduction socks and vibrations
b) Increasing frictional co-efficient

¢) Reducing frictional co-efficient

d) None of these

fyaf @1 Iug frg & fore fasar Srar g 2
a) UfdeTd 3R Hu= H HH!
b) UNUT T[0T T FGII
¢) YU T[UTh I HH BRI
d) 378 I PIS Tl




A simple mechanism has
a) 2 links
b) 4 links
c) 5 links
d) 6 links

U WA gagelt (AefAemd 8ide |
a) 2 foid
b) 4 fi®d
o) 5w
d) 6 el



A rod of 1000mm length has elongated by Smm. What is the strain in
the rod?

a) 0.5

b) 995

c) 1005

d) 0.005

1000 fEft TaTS aTelt B8 @I 5 T SerT ST 81 S H fhd-r 1
(Rer=ma) g

a) 0.5
b) 995
c) 1005
d) 0.005



Root of the equation x2 - 7x + 12=0 are

a) (3,4)
b) (-3,4)
c) (-3,-4)
d) (3,-4)

FHIDIUN x2-7x +12=0DIHA ___ BRI |
a) (3.4)
b) (-3,4)
c) (-3,-4)
d) (3, -4)



Position tolerance is given to control the deviation in the of a

product.

a) Shape
b) Manufacturing process
c) Location of a feature

d) Orientation of a feature

P IRd A & faw RRE erar= faar S |
a) THR
b) FAToT Ufdsar
c) Bk BT =M
d) IR &I A (3NRT<eH)



Which one of the following is the most ductile material?

a) Mild steel
b) Cast iron
c) Glass

d) Tool steel

fafeiad uerd™ ged i Fa-ita @) uerd S a1 g?
a) HISS ¥Id
b) PRE A (= TEN)
¢) Bid
d) ¢d ¥id



Tolerance zone is defined by

a) Minimum Limit - Basic size
b) Maximum Limit - Basic size
¢) Maximum Limit - Minimum limit

d) None of the above

SRy &= farads g1 aRvfrd giar g 2
a) gAdH AT - SfeTed STIH=RM
b) 3fftedd AT - o HTHR
¢) 3HfUHdH T - TAdH AT
d) 379 q PIS T8l



A closed vessel made of steel and used for generation of steam is called

a) Steam boiler
b) Steam turbine
¢) Steam condenser

d) Steam injector

WA Y &1 8311 U 8¢ i il T ST B & o1 SYIRT fha
STl &, 1 hedldl 6?2

a) T IR

b) EIH &g

¢) W HaIW

d) ¥ o



Weight of abodyis
a) W=m
b) W=mg
¢) W=mg?
d) W=ma’

T WRRBIIoF  gidig |
a) W=m
b) W=mg
¢) W=mg’
d) W=ma’



In a bolt, M20 X 1.5, what 1.5 stands for?

a) Diameter

b) Pitch

¢) Bolt head thickness
d) Lead

M20 X 1.5 Siec H, 1.5 &1 &1 3 82
a) S
b) fUa
o) diee I Y Olerd
d) ol



Gear 1s not used to

a) Increase power
b) Increase speed
c) Decrease speed

d) Increase torque

R o1 IudinT fob ferg =& fasar Sran 82
a) UTaR dgM o faig
b) TTfd g™ & fau
¢) Tfd FHA B & forg
d) 9 ¥ gfg & forg



Value of 1/2+2/3+3/5 is

a) 63/30
b) 30/53
¢) 53/30
d) 30/63

1242/3+3/5BTAM B |
a) 63/30
b) 30/53
c) 53/30
d) 30/63



Sum of three consecutive odd number is 33. What is the largest

number?

a) 11
b) 12
c) 13
d) 9

I TG fawH TRemaff &1 a1 33 8 | Tad St T 31 82
a) 11
b) 12
c) 13
d) 9



Rotary motion is converted to linear motion using

a) Spur gear
b) Bevel gear
¢) Rack and pinion

d) Helical gear

BT IUINT B e TMfd DI RSP 71fd H yRRafcdd fovar

ST gl
a) TR R
b) ddd IR
¢) Yo 3R fuffa=
d) eferemd R



The fit on a hole-shaft system is specified as H;S¢. The type of fit
1S

a) Clearance fit
b) Transition fit
c) Interference fit

d) None of the above

BId-TMHR ReH R fibe &l H,S, & ¥U # [Aiqy fHar mar gl fibe
HIYPR___ gl

a) garaRy fthe

b) CifSIRH fthe

¢) SRIBURY fhe

d) FTHI DI T8l



a) Argon and helium

b) Helium and neon

¢) Hydrogen and neon

d) Carbon dioxide and hydrogen

e sifery ([Afspa) T afedT |

S g
a) M 3R giferaH
b) giferad 3R g
c) BRI 3R
d) BT SRS 3R BRZIoH

Gases are used in Tungsten Inert Gas welding.

TG} 1 IuanT fobar



Which of the following is not a fundamental unit?

a) Mass
b) Length
c) Time

d) Force

FafaRaad 8 o191 U Hiftld SPTS ol o7
a) «KOdHIH
b) deTg
¢) 9T
d) §d



The drawing symbol represents

[/

a) Symmetry

b) Inclination
¢) Parallelism

d) Total run-out

gg 3 fog i g 2
[/

a) U]
b) Fb1d

¢) HTARAT

d) pd - 313¢




Which of the tolerance symbols in the drawing has no datum?

a) Position
b) Perpendicularity
c) Parallelism

d) Flatness

gEnd fufafed § 3 frg g g § oI ScH T glare?
a) BIIEEG]
b) I

¢) FHIART
d) JHTAd



Sum of two numbers is 15 and their difference is 5. The larger number
s

a) 10

b) 5

c) 20

d) 15

Sl GEATSHT BTN 15 8 3R IhT 3R 58| TSI T 2
a) 10
b) 5
c) 20
d) 15



ST unit of work

a) Pascal
b) Watt
c) Newton

d) Joule

&1 Bl SIFHS

b) aTe

¢) ged
d) ofel

18

BId 8|




The front view of a rectangle, when its plane 1s parallel to HP &

perpendicular to VP, is

a) Rectangle
b) Line
c) Square

d) Point

T 3M19d HP & GHIaR 3R VP & dadd o dl 3P B he-
(AEABIEE), BT |

a) S

b) 3T

C) ar

d) @i



The following, except  are the polyhedron
a) Prism
b) Pyramid
c) Cube
d) Cylinder

fFrafafed # 4 feae sramar gt sgwas & 2
a) fOSH
DRENIES]
¢) ©H
d) RredieR




The top view of a right cylinder resting on HP on its base is

a) Ellipse
b) Circle
c) Rectangle
d) Square

AU IR U THAd Jag R fcdh gu vgl sk d1eu-g 7 |
a) 3SIPR
b) THd
o) 3Td
d) @i



A tetrahedron is formed from four faces.

a) Square
b) Rectangle
c) Triangle
d) Circle

(6 Ighad IR D] 4 ST 5
a) ABR
b) SHTd
c) Bys
d) 9 (FbT)



Internal angle of regular Hexagon is degrees.

a) 72°

b) 120°
c) 108°
d) 150°

THYCYS BT SHTdRD BT ISP GG
2) 72°
b) 120°
¢) 108°
d) 150°




If the volume of 2 cubes are in the ratio 27:1. The ratio of length their

edges is

a) 1:3
b) 9:1
c) 3:1
d) 1:6

gfe 2 T} T AT 27:1 & U | 8, A I YR (TW) P AwTs
&1 3UId BT |

a) 1:3
b) 9:1
c) 3:1
d) 1:6



Eccentricity of parabola is

a) <1
b) > 1
c) =1
d) None of the above

RITA P Sh<dl g |
a) <l
b) > 1

c) =

d) SWRad H A BIs el



The size of Al drawing sheet is

a) 841 x 1189 mm
b) 420 x 594 mm
c) 594 x 841 mm
d) 297 x 420 mm

AISRICHAY B
a) 841 x 1189 ot
b) 420 x 594 Tt
c) 594 x 841 fod
d) 297 x 420 THHT



What is the name of part of circle bounded by two radii and arc?

a) Circle
b) Segment
c) Sector

d) Chord

&l FAsareli 3R =19 9 foR g & I &1 19 18?2
a) qd
b) TS
C) W(@m
d) Sffat (®1s)



The working edge of a drawing table is known as

a) Fiducial edge
b) Centering edge
c) Ebony edge

d) straight edge

U SIST 9IS & ] Uol (BTHBTST UR) B SISl g |
a) muﬁﬂ\_ﬂ
b) eI TS
¢) SEHI TS
d) R T



The ratio of length of adjacent sides of the drawing sheetis

a) 1: 5
b) 1: V2
c) 1:3
d) 1:1

TS e F 3 fhR (YOITT) B TS BT 3UT __ § |
a) 1: V5
b) 1: V2
c) 1: 3
d) 1:1



In which regular polygon, sides are equal to radius of circumscribing

circle?

a) Octagon
b) Heptagon
c) Hexagon

d) Pentagon

fore Fafiid ag Y &1 Yot uReg 9d &t A & SRISR gl 6 2
a) FDIUI
b) BEFIH
c) BRI
d) UerT=



The maximum number of tangents that can be drawn to a circle from

a point outside the circle are

a) 2
b) 4
c) 8
d) Infinite

g & TR fhul fog o g1 OR Widt S+ aTelt W=l S@r3i} &
HiehdH T

a) 2

b) 4

c) 8

d) 3Fd



CFRP full form is

a) Continuous Fiber Reinforced Part
b) Carbon Fiber Reinforced Product
c) Carbon Fiber Reinforced Plastic
d) None of the above

CFRP &1 01 &7 §:

a) P3N HIFeR Yo b IS UIc
b) BT BIFER SThIS NS
¢) BIE BISER IZTH RS WIReH
d) SWRIad F A DIs ol




Bronze is alloy of

a) Copper & Tin
b) Copper & zinc
¢) Copper & Gold
d) Copper & Silver

S forgen! e 82
a) BT 3R fed
b) BIR AR i
¢) BIR IR Mg
d) BIR 3R Re”



Double helical gear is also known as

a) Rack gear
b) Heliodouble gear
¢) Helix gear

d) Herringbone gear

S A R & AW I W ST ST g |
a) ¥ IR
b) sieiesd AR
C) afcrad iR
d) s frR



1 micron = Angstrom

a) 1000
b) 10000
c) 100

d) 0.001

1 HISshIA = TR
a) 1000
b) 10000
c) 100
d) 0.001




Allen key size (A/F) for M6socket head screw 1s

a) 5.5 mm
b) 8 mm
¢c) 4 mm

d) 5 mm

M6 Fihe 38 Tp & AU TaH- ST A/FIART __ 3 |
a) 5.5 mm
b) 8 mm
c) 4 mm

d) 5 mm



Which fire extinguisher is suitable for the line electrical fire?

a) Halon
b) Water
¢) Foam

d) Liquefied chemical

a3 fagya 3T & forg 1 1 Sfeme Iuged 82
a) BaM
b) T
c) <l
d) Sdld T



What is the grade of the hardest pencil?

a) 10B
b) HB
c) 6H
d) 9H

T H3R (B1S) URd BT IS S8 2
a) 10B
b) HB
c) 6H
d) 9H



Which is the supplementary angle of 120°?

a) 65°
b) 60°
c) 220°
d) 180°

120 © BT GRS PV HI AT 87
a) 65°
b) 60°
c) 220°
d) 180°



What is the part of circle between any points on its circumference of

periphery?

a) Chord
b) Arc
¢) Circumference

d) Segment

gd &1 uRfa W foexdt al foigsii & fora &1 9 &1 Ui R SHeard g 2
2) AIS
b) 3T
c) uffe
d) @S



What is the polygon with interior angle of 108°?

a) Pentagon
b) Heptagon
¢) Nonagon

d) Octagon

108 ° & 3R BV aTell SgHS I 82
AW ECIL
b) HTAHIUI
C) THTHI0T
d) SFDHITI



What is the shape of the section, if a right circular cone is cut by a

plane parallel to the side of the cone?
a) Circle
b) Ellipse
¢) Parabola

d) Hyperbola

Ife U T 31 (FferS) U B ITB! TS P THIGR THIA I
DICT ST, Tl hel g3 Fdg hI HHR R EI

a) 9d

b) Sfer

C) PRE|]]

d) BISUREIAl




Symbol used to indicate dimeter in the drawing is

a) o
b) b
c) O
d) m

SISTH U (SMHICR) DI $1d B & ferg IuanT fbd &
geydie  ® |

a) o

b) b

c) O

d) m



A circle will appear on an isometric drawing as

a) Cycloid
b) Ellipse
c) Circle

d) Parabola

TH HSUHCH ST WR UH gd (THd)

G
a) dshol
b) STHR (Sfere)
c) dd
d) TRag



In which method of orthographic projection the object is placed
below H.P. and behind V.P.?

a) 1st angle projection
b) 2nd angle projection
¢) 3rd angle projection

d) 4th angle projection

N Uora= &t ford fAfd axqe! H.p & 1 3R V.P.
& JiS /I8 2

2) UG HI0T Y& (TST)

b) TR HI0T HETUT (i)

¢) TRERT 10T YT (WiaRH)

d) YT HI0T HEUT (UISTaRI)



Where eye bolts are used?

a) Transmission of power

b) Locking devices

c) Lifting and transporting heavy machines
d) Absorbing shocks and vibrations

3% Siee B IUANT Hel [T ST 6 2
) e 3 et A
b) AITeh?T StaTSY
¢) HRI A=A & fafuc 3R giguideq o
d) Ve 3R HU- Jgd B A



What is the angle of British association thread?

a) 60°
b) 50°
c) 47.5°
d) 55°

fordter Taifue o9 @) BT B S

a) 60°
b) 50°
c) 47.5°
d) 55°



Which key type has semi-circular shape?

a) Square key
b) Gib Head key
¢) Round key
d) Wood ruff key

fh g B BT MBR AYTADBR g2
a) DR B
b) o185 @t
C) T3S Dt
d) TSP Bl



Which type of pipe fitting allows the contents of two pipes to flow

together into one pipe?

a) Return bend
b) Elbow

c) Lateral

d) Cross

b YR D1 UIZy-fh{dT 31 UIsyl St Ul &1 T sy |
TH 1Y UATE HRAD! A aal g 2

a) Red s

b) Teal

C) dexd

d) I



What is the unit of electric charge?

a) Coulomb
b) Joule
¢) Volt
d) Watt

gdfacd dTol BT 3T T g 2
a) P

b) Vfe
c)aﬁ'

d) dic



What is the numbers 7 and 9 indicated in a hole and shaft pair
designated as 40 H,/dg?

a) Tolerance grade
b) Allowance system
¢) Accuracy of manufacture

d) Bilateral tolerance

D¢ 3R AT DI Sre! Bl BI 40 H7/d9 A ST 74T § 37H
TReAT 7 AR 9 T =Tl 87

a) TIRI TS

b) HAIY ey

¢) JATGA BT TR

d) 9T5-ceXd ey




Which of the following is a flexible coupling?

a) Muff coupling

b) Marine coupling

¢) Protected type flange coupling
d) Oldham coupling

fofafaad ¥ o1 ue waifdied Hufe g 2
a) A HUICHT
b) TR HUfei
¢) UIcdes CI3U Uiol hyfeiT
d) 3NTSeH HUlcHT




What is called number of teeth on a gear per unit of its pitch

diameter?

a) Module

b) Diametric pitch
c¢) Circular pitch
d) Pitch

TS fUg-oarg § iR & il I & T Hed g 2
a) AISY
b) SAC® U9

C) Hﬁﬁl’(’ﬁlﬂ
d) o=



Which keystroke do you type to use circle command in

AutoCAD?

a) CO
b) C
c) O
d) L

3MielheH Tbd HHIS BT IYTNT B & folU 31T BT -
¥ TRYU PR © ?

a) CO

b) C

c) O

d) L



What 1s the shortcut key for 'undo' command in auto CAD?

a) Ctrl + R
b) Ctrl+ Z
c) Ctrl+V
d) Ctrl+C

3feIpsH Ydad HY° (‘'undo’) FHIS P XM PHT Holl TG 2
a) Ctrl + R
b) Ctrl + Z
c) Ctrl+V
d) Ctrl + C



Which menu bar contains ‘block’ command in AutoCAD?

a) Insert
b) Draw
¢) Modify

d) Dimension

AP i PHIE BT AR A AR 2
a) 3¢ (Insert)

b) @ (Draw)
c) =M (Modify)

d) AHMMH (Dimension)



What is the including angle of 'V’ belt?

a) 15°
b) 20°
c) 40°
d) 60°

V' e BT XA D107 T 82
a) 15°
b) 20°
c) 40°
d) 60°



Which type of thread is cut on the spindle of bench vice?

a) Buttress thread
b) V'thread

¢) Square thread
d) Acme thread

o9 9159 & fRisd W {59 UeR o gfear & gt 82
a) §CT US
b) Al ¥S
c) TR @NHR) IS
d) T IS



Which bolt is used for holding work directly on milling machine

table?

a) T-bolt

b) Hexagonal bolt
c) Eye bolt

d) Square bolt

forfeiT 7eia iR 49 €t 9 (STe) Bl Udbs & folw Hidr diee
BT IUGNT {3 STl § 2

a) ¢l -diee

b) YCYSITHR Fiec

C) @ﬂéajlﬁr

d) R @NHR) dice




Why a feeler gauge used?

a) Checking accuracy of hole

b) Checking radii of job

c) Checking thickness of sheet

d) Checking gap between mating parts

BIeR IS &1 TGN T 8 2
) e 7 TR o ¥ R
b) ST Pt BT A9 F T
C) Qﬂ??ﬁrﬁfﬁw*m
d) AT UCT & fSas! U AR & fore



Which among the following is a type of direct measuring

instrument of roughness?

a) Micro interferometer
b) Micro meter
c) Profilometer

d) Surface dynamometer

Frofafad & @ S R IBAY 1107 ST ITH1E 2
a) HISh! SCIBRIHIC

b) HISHIHICY

c) Mg adicy

d) Y SEHHCeR



Which die is used for more than one cutting operation per stroke?

a) Blanking die
b) Piercing die
c) Compound die

d) Progressive die

gfd Wi T ¥ SA1aT BT SO & ford HI-g! ST TN
&I ST g 2

2) SATHIT 815

b) fTrRRIT S

¢) HHIS BT

d) TR e




Which command 1s used to cut a line in Auto CAD?

a) Extend
b) Trim

¢) Delete
d) Offset

3ficirs H UH AR Bl HIe- & [ S HHIS TN B
ST B2

a) THRICS

b) feH

c) fSeite

d) 3{Tpace



Which command is used to obtain common region of two

intersecting parts in Auto cad?

a) Intersect
b) Subtract
c) Revolve

d) Union

dicibs H al ufdw=dal QREll (UICH) &1 HH & Ui - &
fere S < HHTS ITART BT ST &2

a) SCHIC

b) FagdT

C) alea

d) ga



What is the keystroke for 'Copy' command in AutoCAD ?

a) CY
b) CC
c) C

d) CO

3cihs H SN HHNS & oy DT DI EIF § 2

a) CY
b) CC
c) C

d) CO



By which command a cylinder can be created by drawing a

rectangular shape?

a) Revolve
b) Move
c) Extrude

d) Sweep

Uh HAATHR HTHR Wigdr fbg Haie § Ricier sarn
qHAT g ?

2) Raled

b) {4

¢) THIES

d) Wiy



The extension for AutoCAD template file is

a) DWG
b) DWT
¢) DWF
d) DXF

9 7 QI 91 3ieihs HT cHdc B3 &l TG g ?
a) DWG
b) DWT
c) DWF
d) DXF



In which gear teeth are cut parallel to the axis of the shaft ?

a) Bevel Gear
b) Helical gear
c) Spur gear

d) Herringbone gear

B9 TR & gid 378 & THIR He oI 6 2
2) fead iR
b) gferdmd R
¢) TR iR
d) e R



What is the type of triangle if the two sides of a triangle are equal?

a) Isosceles triangle
b) Acute angle triangle
c) Equilateral triangle

d) Scalene triangle

afe Y B1 1 Yo I 81 & Bys fra UeR &18 2

a)ﬂﬂ@_@_ﬁ
b) TRICHIU
c) HHdTg

d) fawmaTg





